UBE 501
DISCRETE MATHEMATICS  Fall 2008

HOMEWORK #9
(Do not submit.Your work will be evaluated through in class Quiz #9 on Dec 25th 2008, 09:00 – 09:15)
1) Determine whether the relation R on the set of all integers is reflexive, symmetric, antisymmetric, and/or transitive, where 
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a) x ≠ y
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c) x = y + 1 or x = y - 1
d) x ≡ y (mod 7).

e) x is multiple of y.

f) x and y are both negative or both nonnegative

g) 
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2) Let 
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 be relations from {1, 2, 3} to {1, 2, 3, 4}. Find
a) 
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d) 
[image: image10.wmf]1

2

R

R

È


3) This exercise deal with these relations on the set of real numbers:
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, the “greater than” relation,
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, the “greater than or equal to” relation,
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Find 

a) 
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c) 
[image: image18.wmf]5

3

R

R

o

 
d) 
[image: image19.wmf]1

4

R

R

o


4) Suppose that R and S are reflexive relations on a set A. Prove or disprove each of these statements.
a) 
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 is reflexive.
b) 
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c) 
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 is irreflexive.

d) 
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 is irreflexive.

e) 
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 is reflexive.

5) List the ordered pairs in the relations on {1, 2, 3, 4} corresponding to these matrices (where the rows and columns correspond to the integers listed in increasing order).
a)  
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b) 
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c) 
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6) Let R be the relation represented by the matrix
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Find the matrix representing

a) 
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7) Let 
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Find the matrices that represent

a) 
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8) Let R be the relation represented by the matrix
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Find the matrices that represent

a) 
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b) 
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_1291185895.unknown
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_1291120444.unknown

_1291120464.unknown

_1291120359.unknown

